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Control
N2O:DNF = 0.39e-0.068(nosZ)

R² = 0.53; p = 0.101

Press
N2O:DNF = 0.32e-0.076(nosZ)

R² = 0.75; p = 0.026
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nosZ Expression (cDNA:DNA)

Control (S = 0) with no pulse (S = 0)

Control (S = 0) with pulse (S = 25)

Press (S = 20) with no subsequent pulse (S = 20)

Press (S = 20) with subsequent pulse (S = 0)
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Control
R² = 0.00; NS

Press
R² = 0.04; NS
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nirS Expression (cDNA:DNA)

Control (S = 0) with no pulse (S = 0)

Control (S = 0) with pulse (S = 25)

Press (S = 20) with no subsequent pulse (S = 20)

Press (S = 20) with subsequent pulse (S = 0)


